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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(b)

(c)

(b)
(c)

(b)

(2) Marks of question are indicated on right side.

Explain demand elasticity and state the uses of it.
Explain average revenue and marginal revenue.
Explain Demand Curve and Supply Curve.

OR

If Demand function D =26-2P, supply function

S =2P% —10P + 2. Determine the equilibrium price and
quantity.
If demand function of a commodity is x=15-2P, find

marginal revenue.

The demand function of a commodity is x =50+ P — P2,

find the elasticity of demand when P = 5.

What is market equilibrium? Explain by using curves.
Explain Cob Douglus production function.
Explain Homogeneous production function.

OR

A radio manufacturer produces x radio sets daily with a

2
total cost of ;C_O+ 3x+50. The demand function for him is

x=75-3P. How many sets should he daily produce as a

monopolist to get maximum profit and find price per set for
maximum profit.

Production function Z=10-x""'—-y~!, find the maximum

profit if P, :9,Px:4,Py:5.
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(a)
(b)

(b)

(a)
(b)

Explain utility and marginal utility.
The utility function of a consumer is U = 4x° y3. His

budget function is x + 2y =12. Determine quantities x and

y such that the consumer gets maximum satisfaction.

OR

Explain utility function and budget equation.
The utility function U =24x + 48y — x2 - y2 and budget

equation is x + 3y =14. Find the value of x and y such that

U becomes maximum.

Write note on Input-output analysis.
Write assumptions of input-output analysis.

OR

Technical coefficient matrix for two industries is given below.

Find the total production for each industry if final demand are 30

and 100 respectively.
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